DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
12JPCM14 Class : XII
JEE PRACTICE QUESTIONS Time: 1.15 hrs
(2023-24) (TEST-14) Total Marks: 180
General Instructions:

1. The test is of 1.15 hrs duration and consists of 45 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. In young's double slit experiment, the ratio of
the intensities of the dark and bright fringes is
16 : 36 The ratio of the amplitudes of the two

light waves is
A)8:2 B)36:16
C)5:1 D) 2:1

wm @rlenLll Wlemey Suuilefley, Fmin
LDMHMILD QLIHLO LI 6m L &6l 6o Q& M6y &serfleor

&EHID 16 : 36 erefled  @pevor(  eperfl
& erflet afg &g erfleor &G0

A)8:2 B)36: 16

C)5:1 D) 2:1

2. The displacement equation of two interfering
waves are given by y; = 10 sin (wt i % ) cm,

y, = S[sin wt + V3 cos wt] cm respectively,
The amplitude of resultant wave is
cm

A) 20cm
B) 15cm
C)10cm

D) 25 cm

@ revor(h) GGG (B llemerey 3| 6mevdserfleor
QLUQUWIEFR FerUTH&6T  nenmGul

y1=10sin (W74 )@z.8, y, = S[sin wt + 3

cos wt] Q&.L15 6T6vfl6v Q&G LIUIEIT 26076V U 60T
D0 Q&S

A) 20cm
B) I5em
C) 10 cm
D) 25 cm

3. Two coherent sources of light interfere. The

Intensity ratio of two sources is 1 : 4 for this
r . Imax + Imin
interference Pattern if the value of T+ Lo

is equal to 2/?%31 then % will be

A) 15 B)2

C) 0.5 D) 1
@reoor(h - eflueb] eperfl  epeumEIG 66T
eefl&HeT GMISHOLWD CUME @ revor( eper
epevmisefler Qamle] BSLD 1 : 4, @QHS
GLEELE swlld T wHy

20+1 . . . a . .
f+3 HG FOW. GgId g -6 &I

6TEOTEOTEU TS @) (H& & LD.

A) 15 B)2

C) 0.5 D) 1
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4. In Young's double slit experiment, the 6th
maximum with wavelength ‘A *is at a distance
(d,) from the central maximum and the 4th
maximum with wavelength A, is at distance
d,. Thend /d, is

34 24,
A3, B) 37

wi @ulenLl  Wemey  sylieiley, A,
emeVHeTpenLL 66Ug& GQLIHLOL el
QUBLESH O BHE! d, S TenevaleL 2 6Tergl.
SIB% GUIMeL A, SjenevhaTld Q&Moo 46US!

QU@L d, CFHTenevaley 2 6TaTag! 6Tevilev
d./d, 601 LOGILIL.
34 21,
A) 92, B34
34 241
9 D) 32,
5.In Young's double slit experiment, for

wavelength ), the n™ bright fringe is obtained
at a point P on the screen. Keeping the same
setting, source of light replaced by wavelength
A, and now (n+1)" bright fringe is obtained at
the same point on the screen, the value of n is

A) A B) 4o

C) /11;2/12 D) /11/;1/12

whser @rlenLllere opiefey A,
SmeVBeTd Q&BMeooTL.  Q6M&HEG n-eUSl
QU@L UL emL Hemguilev P eredtm Ljsierfluilev
ANWHRME, CH MLl MGG
Q& MeoT(h), {6MELIHETLD A, G185 60T L 61Ul meu
g6l eLNELGEMNS DMMHMID LM (n+1)L6US!
QuELL Heoguley CH  Lemerflullev
aNWH MG 6T6vtl6v N-@)60T DG LIL| UITSHI?

B) /11/1%

A) Al/}/u

C) /11;2/12 D) /11/;1/.12

6. Calculate the minimum thickness of a soap
film (n = 1.33) that results in constructive
interference in reflected light, of the film is
illuminated with light whose wave length in
free space is 532 nm.

A) 113 nm

B) 100 nm

C) 200nm

D) 226nm
GFmiL ULeld e6rm  QeumnlL G560
532nm 3|6M6VIHET (LN 6T
eperflulmev epeflu, L LD Gurms|,
aHQrmefleaasliul L eaflumd  6HEH
GOISESEL R alemerey  QUOLUILGSMmS!

eTeotlev GFMLUIL LILevGH et (u=1.33) P oming
19 LDEM 60T & 60015 5 (h) &.

A) 113 nm
B) 100 nm
C) 200nm
D) 226nm

7. A light of Wavelength 500nm is incident on a
young's double slit. The distance between slits
and screen is D = 1.8m, the distance between
slits is d = 0.4 mm. If the Sereen moves with
a speed 4ms !, with what speed first maxima
will move?

A) Smm/s B) 4 mm/s

C) 3 mm/s D) 2 mm/s

WiIser @ulenllilere] opuiedley, 500
nm Sjemeuberid Q& mevorl eperfl Lilemayerflev
ANWHME. HorsG, LI6TesHens @D
QemLGBW 2 6T Q&Mem6VE],, D = 1.8 m,
@uUesoT(h  LeTey&HEhsE @eenLGu 2 6Ter
Qsmemeva] d = 0.4 nm HemFWimers 4ms™
CaussHH BEHEIHHTL, 6HS CaudsshHev
(LPH6L GLIIHLOLD [H&H(HLD.

A) Smm/s B) 4 mm/s

C) 3 mm/s D) 2 mm/s
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8. In Young's double slit experiment the two slits
are 0.6 mm distance apart, Interference pattern
is observed on a sereen at a distance 80cm
from the slits. The first dark fringe is observed
on the sereen directly opposite to one of slits.
The Wavelength of light will be nm.

A)450°A
B) 450nm
C) 450 mm
D) 450 pm.

WiIser  @ulenlll  emey — yuledley,
@uevor( Llemeysdser 0.6 WAL Q&memneveaiey
MeUGSLILL B 6Tens. GMIGHLH allemerey
L emeysserfled (hH S 80 Q1 &.L0 G\ & Tetr6v el 6l 6IT6rT
Genguiley  QUDLUILESEMS.  Hengulley
QUMUULL W&V QUGB @ Feoor(h
Nemaysseflev, e Nemeys@& GmI  eTHiflev
@A BEGMTTe, eefluller  emevBerTin
nm.

A) 450°A
B) 450nm
C) 450 mm
D) 450 pm.

9.1g of water of Volume lcm? at 100°c, is
converted into steam at some temperature,
under normal atmospheric pressure (1x10°Pa).
The volume of steam formed equals 1671
cm?. If the specific latent heat of vaporisation
of water is 2256 J/g. The change in internal
energy is

A) 22561 B) 2423 ]
C) 2089 J D) 1671
TS ITIJ600T auerflLnevor L6V (W& 5ID

MHMID QeuliLiblemeuuiley, 100°C-60 1 Q&F.LS?
LigpLoeoflev 2 6o 1 g Bomeorg Brmellwins
LTOHPOLULUGREmE. 2 @meurmer Brmellullesr
LIGpLO6T 1671 Q&F.LS? &G FOWMGLD WDMHMILD
Brfleor oelwmsedler 2 6TEhemm GeuliLLD
2256 J/g eTenflev 918 2L,MMe6L mmILIm(h)

A) 22567 B)2423 ]

C) 2089 ] D) 1677

10. A refrigerator works between 4°C and 30°C.
It is required to remove 600 calories of heat
every second in order to keep the temperature

of the refrigerated space constant. The power
required 1s [Take 1 cal =4.2 J)

A)236.5 W
B) 2365 W
C)2.365W

D) 23.65 W

4C wmmib  30C-&@ Q6mLCW 6
GeflJomserL QuILLg Geuem6y
QEFWHME. Geflepl LluBl QLSS eor
QeuliLIBlemevenl LDMMIeNWTs eneulllgGnH S
@8 RaIQUTMH eleTmg&sEGLD 600 &G
QauliLusems HHEH Geueor(d  eTevilev
G emaulILIBID Hmedr (1 &Geumifl = 4.2 ))

A)236.5W
B) 2365 W
C)2.365W
D) 23.65 W
I1. A thermodynamical process is shown in fig
with P =3x10* Pa, V, =2x107 m’, P =8x10*

Paand V= 5x 10°m?

P 1 B

Wc

A

C
In the process AB and BC, 600 J, and 200 J of
heat is added to the system respectively. The

change in the internal energy of the system in the
process AC would be
A)560) B) 65017]

C) 5301 D) 590J
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;7(:

A

C
P,=3x10%Pa,V, =2x10°m? P, =8x10* Pa LOMMILD
V. =5x 102 m? LS ILSHEHL6T  QeuliL
@ussalluley 515D 6)| & 6iT UL &56v
ST LU (heTemgl. AB Lnmmith BC BlasLpeN6v
600) wWwMHMID 200) Qeulu  WenmGEUI
el LerT GFIH&HELILGGIMSI. eTeoflev
AC mlswailler el ghuU@l 95
2LMMEV LOTMILIT(H

A) 5607 B) 650 J
C) 53017 D) 5907

12. In an isothermal process the volume of an
ideal gas 1s halved. One Can Say that

A) internal energy of the System decreases
B) Work done by the gas is positive
C) Work done by the gas is negative

D) Internal energy of the system increases.
QauliLmlemey MMM BI&GP6]  seTnl6y,
BeLVEOILIGUL]  6UMU]  6R60TMIEOT LICHLOGDT
LTRSS GenmasLILGIT M eTefley,

A) S|emDLILN6T 38 MMV GeMRMSI.

B)aumujeumey  QaFuwwlu@Gm  Geuemev
CHIGM 2 e uwgl

Oeamyelmey QFwwlU®W  Geuemev
THIGM 2 6mLwgl

D) &jem LI edr 5 SL,MM6V

AP &NEH MG

13. Three Samples of the same gas A, B and
C(?’ = %) have equal volume initially. Now

the volume of each sample is doubled. For A,
the process is adiabatic, for B it is isobaric
and for ¢ the process is isothermal. If the final
pressure are equal for all the three samples,
the ratio of their initial pressure is

A)2:1:\2
B) 2v2:1:2
C)V2:1:2
D) V2:2:1

@Gy eumweller epermy WLTHfseT A, B
DM mILD C(7=%) Wmegl QFHTLEHSH 6V
FLD LIHLO6DEOT G185 M6ooT(h 6ITemenT. &MELIMSI

6261 G6UM(H & rlulleor LI(HLO&DILD
@ LBISTESLIUGSHMS!. GLaild
A QeuliuulmhmiuieveuT B &LD6),

B oWwssd wmom plspe| woH@ID C
QeaullUmBlemev LDMMIT BI&HLD6)| LG LD. eLneoTmI
LTS &erfler @mMG NWSHSLD FLOLD 6Tevflev
AUDHMIET QFHTLES (WSS 6T &S0

A) 2:1:\2

B) 2v2:1:2

C)2:1:2

D) \2:2:1

14. The fall in temperature of helium gas initially
at 20°C when 1t is suddenly expanded to 8

times its original volume is (7 = %)
A) 70.25 K
B) 71.25K
C)72.25K

D) 73.25k

SLTLUSH6L 20°C QeuliLplemevuiey 2 6iem
anfedlld QUMW ST QLTLDL LIHLOEDEOT
L 8 LLME Heer allifleunsasLiLmwn

GuUMal gMUG LD QeuliLl 6Sh&F (7’ = %)
A)70.25 K
B) 71.25K
C)72.25K

D) 73.25k
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15. In a heat engine, the temperature of the source
and sink are 500 K and 375 K. If the engine
consumes 25 x 10° J per cycle, the work done
per cycle is the

A)6.25x10°]

B)3x 10°]

C)2.19 x 10°J

D)4 x 10*]
Qaulll @QWBH T eedTM6dT GlauLiLl eLp6VLD
LHMID Qeulil gmliuilerT QeuliLmpleney
WemmBW 500 K wmmid 375 K 4@&LD.
R0 HFOOGSG SbHS QWHS T 25 x 10°)
WOMMV  QFILLTL, — 6UCeuTm
FMHMIHGL QFWWLILGL Ceuemev

A)6.25x10°]

B)3x 10°]

C)2.19 x 10°J

D)4 x 10*]

CHEMISTRY Q.No. 16 to 30

16. The catalyst used in the manufacture of
H,SO, by contact process is

A) AL O,
B) Cr,0,
C) V,0,

D) MnO,

9jilevLd
LiweruU (LD

QsTh  wemuilley  &HHEHE

swrflggedley
aflemeTGeugsLnmm
A)ALO,
B) Cr,0,
C) V,0,

D) MnO,

17. Which of the following statement is wrong?
A) NOCl and NO," are isoelectronic
B) O, molecule is bent
C) Ozone is violet black in solid state

D) ozone is diamagnetic gas

FELDEHEOTLIMMIET  HUMTET  FonMHenM
CHTHOSHH &S LD
A)NO,” Wwmmild NOCI @55 6T6L&L [ Teor
3|6MLOLI60) LI Gl &sITE00T 606U

B)O, CfNeLEFnM 6UM6THS V allgelDd
Q& ITEUoTL_G

Q) @Comer Hevorld BHleneLUI6L &(IHETGIT
BID&S6L @S S0

D) 2 @& meor L
Q& IT60OT L GUITU

&HTHSHE S 60T60)L0

18. Which among the following is most reactive?
A) Cl, B) Br,
Cs D) IC1

G LD E>85600TL_6UMMIGT 6TH 55 616 60T S\ M 60T
Q & M6oTL_G1?

A) CL, B) Br,
C) L D) ICI

19. The pair in which phosphorous has a formal
oxidation state of +3 is

A) Pyro phosphorous and hypo phosphoric
acid

B) Ortho phosphorous and Hypo phosphoric
acid

C) Pyro phosphorous and Pyro phosphoric
acids

D) Ortho Phosphorous and Pyro phosphorous
acids
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G LD 85 600T L 6TH& @ LImeruLIgen
ILdlevmsi s erflev LImeruLIen +3

2,5618GeTmHM MBlemeuuley 2 _6Tengi?

A) e LIGTITLITENLIF6en LOMHMILD
emamLIGUTUmenUMg 9flevld

B) ©,J& G ITLIMENLIT6rVLOMMILD 60YQMLIGLIT
umenumile 9udlevin

Q) eUIGTTLITENVLIT6N
emuUGTmUmeUM& jdlevld

LOMHMILD

D) &7&5CHT LITenLIJen
UG TLMeruLITen Lileuld

LOMHMILD

20. Which of the following is explosive
A) NCI,
B) PCI,
C) AsCl,
D) all of these

G LD 8585 600T L_6) M M1 6T 613
QUITIH6T?

(APTIE: G M)

A) NCl,

B) PCl,

Q) AsCl,

D) @ 6m6U 36M60TSH SN

21. Which of the following elements does not
form stable diatomic molecules?

A) lodine

B) Phosphorous
C) Nitrogen

D) Oxygen

G LDEG600TLeUMMIET 6T [Bl6em6VLLITEOT FF el
ELNEVE T M QUMM (HEHEHMTSI?

A) 2GUIITLY.60T

B) LimenuLIyeny

C) 6mIBL_[J 60T

D) oy,&6rdlegeor
22. Match the following
a) Pure N, 1. Chlorine
b) Haber process i1. Sulphuric acid
c) Contact process iil. Ammonia
d) Deacon’s process iv. Sodium azide

a b c d

A) i ii iii iv
B) i iv i iii
C) il iv i i
D) v iii i i
QUIMT(H&S S &:
a) &rw N, i. GGerrmifleor
b) GamLIT (pevm ii. HHSH5 Ldlevn

0) QBMTH Wemm iii. D ELomeotlwiT

d) Ie&eor (Lpedm  iv. GFMIQWILD 36 & (b

a b c d

A) 1 1 111 v
B) 1 v 1 111
C) 111 v 1 1
D) v 11l 1 1

23. During lightning in atmosphere — is produced
A) NH,
B) NO
C) NH,OH

D) NH,OH
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aflevorQaueflulley leoTeoTeL CHTOTMIAIFTL | Q&ETHBleMLEMUIL] QUTMISS  @MHIG

2 (HeUmeusI? alflens
A)NH, I. CH,-~CH,—CH,—CH,—CH,
B) NO II. CH,~ CH- (le— CH,- CH,
C) NH,OH CH,
1. CH,~ CH- CH- CH,
D) NH,OH | |
CH, CH,
24. Propane can be best prepared by
A)IIT> 11> 1
A) CH,~CH,-Br + CH,Br + NaEt,O
B)I>11>1I
B) CH,~CH,~COONa + CH,COONa —
O)II>TI>1
. Et0
C) CH,-CH,-Cl + (CH,), CuLi —— D)II>1> I
D) CH,-CH,-CH,~COONa + NaOH—"2> 26. The reagent?used for the conversion of
LGTTLIGUET & 1sE AouLrs SuTfléEs heptane ———> 2, 4 — dimethyl pentane
2 _Fe|lD ellemeot is
A) CH~CH,-Br + CH,Br + NaEt,0 A) AICL + HC
B) CH,~CH,~COONa + CH,CO0Na — - —> B) H/Ni
C) H,SO
C) CH,-CH,~Cl + (CH,), CuLi —> Q\ ¢
D) CH MgBr
D) CH,~CH,~CH,-COONa + NaOH —*— . _ o
QamLIGLefledmH Sl 2,3-60L QL5 H 6V
25. The decreasing order of boiling point is QUEUTGL 6T 2% WIOM 2 S elleneorss
&ITy6o0l|
I. CH,-~CH,—CH,—CH,-CH,
A) AlCI, + HCl
II. CH,— CH,- CH- CH,— CH,
| B) H,/Ni
CH,
I1I. CH,~ CH- CH~ CH, O R20,
| |
D) CH,MgBr
CH, CH, ) CH;Mg
A>T >1 27. Methane on heating with oxygen in the
presence of Molybdenum trioxide gives
B)I>11>1I
A) CH,OH
O) I >TI>1
B) HCOOH
D)II>1> 11
C) HCHO
D) CH, = CH,
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I55CHemeoT LOMESILIG60TID L6 T3, E6men(h)
(Wetevflemeuuiley oy &6erNementss 685 meoor(h)
QauliulUBGSSID CUME HemLLILIgI

A) CH,OH

B) HCOOH

C) HCHO

D) CH, = CH,

28. Which of the following is the final product of
the below reaction?

H,C_  CH=CH,

<&

CH,
CH,
A)
CH,
b
CH,
odre
CH,
CH,
D)

GLpsseoL. Gaudallemeruiley @MIGUITSHS
FRemLLILIGI1?

H,0"
N

H,C_  CH=CH,

H,0*
N

CH,
CH,
A)
CH,
e

CH,
ol
CH,
CH,
D)

29. Isomers of hexane, based on their brunching
can be divided into three distinct classes as
shown in the figure.

I I: > and \(\:I
II I:/K/\ and /\(\:I
IIII: o\ :|

The correct order of their boiling point is
A)I>11>1I1I
B)III>1I>1
O In>1r>1
D)l >1>11
QTG0 o_aTer
Qam & Caevfledr LTOMWBISGET  3560T

F\60)61T 5 61f | 60T 6T600T 60011 85 60) & 600 LI L

QUMMISS  IH6e0T Q&THBlemen auflens
L9l edTeu (B LO M)

I |: >—< and \(\:I
il I:/K/\ and /\(\:I
IIII: AN :I

A)I>11>1I1

LD 85 600TL

B)YII>1I>1
O II>MI>1

D)II>1>11
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30. The trans — alkenes are formed by the
reduction of alkynes with

A)H,-Pd /¢, BaSO,
B) NaBH,
C) Na/ Liq.NH,
D) Sn - HCI
3| 6V60)5560T860)6T

21,60 5 60T 5 60 61T
LiwerLI(heugl

20 &5
QUMILD

LQ. [T IT60T6N
wenmuilev
A) H,-Pd / ¢, BaSO,

B) NaBH,
C) Na / Lig.NH,

D) Sh - HCl

| MATHS Q.No. 31 to 45 |

31. The area of the region bounded by the straight
line x = 0 and x = 2 and the cures y = 2* and
y=2x —x? is equal to

A) <é - %)sq.units
3 4 .

Tog2 3 sq.units
4 .

<log 5 g)sq.umts
_3 -

< Tog2 2 >sq.un1ts

GUEMETEUEMIGHGT y = 25 y = 2x — x> LOMMILD
GBIGHT(H x = 0 LDMMILD X = 2 QHIIMDH MGG
@emLCW SjemL LD SITBISHE S 6T LIFLIL]

2

32. Area bounded by the curves y =5f—a and

__8a’
Y =X+ 43°

1S
A) +(67+4)ifa=1
B) 347 +3)ifa=1
4 AN . —
C) 5(61—4)ifa=2

D) +(27+3)ifa=1

2

oo xr .. 8a°
6U6DEITEU6D T&HET Y = 4a LomMILN y—m
&S Weummim &lemnL Gul SjemL LD

S TBISHSS) 60T LITLIL
A) Her+a)ifa=1
1 e
B) §(47T+ 3)ifa=1
4 AN o —
C) g(6r—4)if a =2
D) $(27+3)ifa=1
33. The area in the first quadrant between

x*+y?’=mn*and y =sin x is

7°—8
4

A)

3

B)%—

X2 + y2 = 1w aeim elLSHT (WPH6V
SFTOUGHGHSIWL y = sin X eT60rm
6UEDEITEUED [T & (& LD @ emnL_Guwl o 66T
S| BI& S S60T LITLIL

A)

°—8
4
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34. The area bounded by the curves y=|x|-1 and
y=—|x|+1 is

A) 1 sq.unit

B) 2 sq.units

C) 272 sq.units

D) 4 sq.units
y=Ix|-1 LD mILD

6UED)EITEUED) T & 61H & (&
ST BI&ES60r LITLIL

y=—[x|+1 6T60TM
@) 60 L@l UL meoT
A)l 5.9
B)2 5.9
C) 2V2 &.9y
D)4 5.9
35. The line x=n/4 divides the area of the region
bounded by y = sin x; y = cos x and x — axis

(0 <x <7/2) into two region of areas A, and
A then A : A equals.

A)d:1

B)3:1

0)2:1

D)1:1

y=sIinX;y=cosX L0MMID x - H&F&F (0<x<1/2)
AHBWaMMTEL L LIBGID TS5 60T
LIFLenL x=m/4 6TedTm C&H LTSI A, A, 6T60TM)
QG UGB &TTe Uf&EHMmE eetfley A, @ A,
@ 60T LOFILIL]

A)d:1

B)3:1

10

0)2:1

D)1:1

36. The area (in sq.units) in the first quadrant
bounded by the parabola y = x> + 1, the
tangent to it at the point (2, 5) and the
coordinate axes is

8
A) T

37
B) ox

187

O 54

14

D) =
y = x2 + 1 er60Tm LITeUeM6TUWSHFH 6T (N6
Smevell LGS ullev (2,5) erenuld Ljaimerfluilev
QETHCHTH WLMMID U EFFHETTEV
3L LI(HD ST HEISSS 60T LITLIL

8
A)g
3

B)

W~

37. If the area of the region bounded by the curve
y=Vx+1 the axis of x and the lines x =0, x =4
is A then the value of 3A is equal to

A) 26 B) 28

C)24 D) 27

y=\/x+1 6T60TMD GUEDEITEUEN T X D &F &, GSHT(H & 6T

x=0L0MMILD x = 4 & UWeIMHMTEL 6L LI{HILD

S| TMHIGESH 60T LITLIL| A 6TevfleL 3A — 60T LOG)LIL]

A) 26 B) 28

C) 24 D) 27
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sin X _
38. f V3 +2cos x

A) /3 +2cosx +c
B) —/3+2cosx +c¢
C)V/3+2sinx +c
D) —V/3+2sinx +c

f sinx _ _

V3 +2cos x
A) /3 +2cosx +c
B) —/3+2cosx +c
C)v/3+2sinx +c
D) —V/3+2sinx +c

39. / cos X —

sin® + sin X

A) log|cos x|—sin x+c

B) log|cos x|-cos x+c

C) log|sin x|-sin x+c

D) log|sin x|+sin x+c

/ cos’x dx =
sSin”+sin x

A) log|cos x|—sin x+c

B) log|cos x|-cos x+c

C) log|sin x|-sin x+c

D) log|sin x|+sin x+c

40. If
then A is

A)A=F

B) -1

f X(X?‘b-(l- 1) - Alog|

—n1|+B,BeR

11

O A=
D) A—L
dx  _ x"+1

S gy = Alog X FL [+ BBER  aafle)
A-60T LDGILIL]

A)A=F

B) -1

A=

1

D) Azﬁ

41. In the integral f IOX# dx = EL(XZ) +c¢ where

f(e) = =3 and c is the constant of integration,
then the value of f(¢?) is equal to

A)3
B) 4
C) -5

D)5

flofgx dx = f(X)+c 6160t QFHMenHUTL 196V

fle) = -3 WMmmID ¢ eTeoTLG gCHID 6(H
rmledl etenflev f(e?) - 60T LOGLIL]

A)3
B) 4
C) -5

D)5

sin®x — cos’x : .
42. / e ——— dx is equal to (Where c is

an arbitrary constant)
1 .
A) 5 sin2x +c

B) “Lainox+c
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O _Tlsinx+c

D) —sin’x+c

c .8 8
sin®x — cos®x .

n LOSIL
1 — 2sin®x cos’x sluy

CetetTLIS SetTenll&Fema omniled)

dx—e0r (@M

A) %sin2x+c
-1 .

B) 5 -sin2x+c

C) “Lsinx+e

D) —sin’x+c

44. Let I, = ftan“xdx(n >1), If [ +I=a tan’x +
bx>+ ¢ where C is a constant of integration,
then the ordered pair (a, b) is equal to

~ (5h)

B) (5:0)

o (5-1)
(5-0)

In=ftan“xdx(n >1) wmoib I+ =a tan’x

+ bx’+ ¢ (@M@ C ereorg MMl6Y) eT6vflev
aliflens G&ITLY. (a, b) 60T LDSILIL

A (3h)
B) (£.0)
1)

(5~
D) (5-0)

D)

o=

O1|r—‘

Q)

45.Let f(x)= [e'(x—1(x-2)dx then f(x)
decreases in the intervel
A) (-0, =2) B) (-2, -1)

0 1,2) D) (2, )

f(x) = fe"(x— D(x—2)dx eTedTm) Q& TeN&HEH S

fx) GpsmeorL  6hE  @emLGeuetlulley
@MMRIGL FTFUTEH 6MLOU|LD
A) (-, =2) B) (-2, -1)

0 (1,2) D) (2, )
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